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1. Plot the output voltage (V,) waveform for the peak detector shown below. The diode
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is ideal.
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2. For the following circuit, plot the output-input characteristics.
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3. A self-biased CE amplifier is shown below.
Find the transistor DC operating points. Check what region of operation the

transistor is biased at.
b. Calculate the small signal voltage gain Z—", and the input impedance of the
S

a.

amplifier, R;,. The resistor Rz may be ignored.
c. Calculate the small signal voltage gain %’- without ignoring Rp.
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